
of]hgfsf] gfd 7]ufgf

ef}lts k"jf{wf/

1 gu/kflnsf cfGtl/s cfo bflvfnf h=g=kf= ! 100000.00

2 a[xt a'9fl;d vfg]kfgL of]hgf lgdf{0f h=g=kf= ! 2000000.00

3 ufpF3/ :jf:Yo lSnlgs ejg lgdf{0f h=g=kf= ! 500000.00

4 l;Nnfsfsf] vf]nf 6aGwg h=g=kf= ! 300000.00

5 gof/fo0f dfljb]lv vf]rf vf]nf ;Dd 3f]/]6f] af6f] lgdf{0f h=g=kf= ! 300000.00

6 wf}nL vf]nf b]lv lkdL 8fF8f a'9fl;g 3f]/]6f] af6f] lgdf{0f h=g=kf= ! 500000.00

7 t]nkf/L ufpF n3'hnljB't of]hgf dd{t h=g=kf= ! 300000.00

8 ;fO9'u+f n3'hnlaB't of]hgf lgdf{0f h=g=kf= ! 500000.00

9 s}nfz 8fF8fdf dlGb/ Eo' 6fj/ lgdf{0f h=g=kf= ! 500000.00

10 d]ntf]nf vf]nf t6aGwg h=g=kf= ! 200000.00

11 6f]6\sL 8fF8f b]lv s}nfzklt ;Dd 9nlgsf; h=g=kf= ! 200000.00

12 xd/;}g lkdL 8fF8f a'9fl;g s}nfz u'kmf;Dd ;8s lgdf{0f h=g=kf= ! 500000.00

13 lkdL 8ff8f b]lv cf]vn 8fF8f ;Dd 3f]=af= lgdf{0f h=g=kf= ! 100000.00

14 xd/;}g v]nd}bfg lgdf{0f h=g=kf= ! 200000.00

15 rf}8\ofg a'9fl;g cfn', kmnkm'n ks]6 If]q h=g=kf= ! 200000.00

16 8fn]3fF; / kmnkm'nsf] g/;/L :yfkgf h=g=kf= ! 200000.00

17 laz' rf}/ b]lv b]?v ;Dd 9n lgsf; df]t{nL h=g=kf= @ 500000

18 aof8L ufpF b]lv km'6fk8 ;Dd 9n lgsf; l8Nof, bf}Nofn jf8f h=g=kf= @ 400000

19 l8Nof b]lv dflgsf rf}/ ;Dd uf/]6f] af6f] lgdf{0f h=g=kf= @ 300000

20 l8nof bf}Nofnaf8f x'b} wf/fvf]nf ;Dd 9n lgsf; h=g=kf= @ 300000

21 afFhufpF 8'ª?0of dflgsf rf}/ x'+b} aof8f ;Dd ;8s ;lj:tf/ h=g=kf= @ 300000

22 hfnkf sfnLsf dlGb/ lgdf{0f h=g=kf= @ 400000

23 kftn b]lv tln3/ ;Dd 9nlgsf; h=g=kf= @ 500000.00

24 di6fdf08' dlGb/ lgdf{0f bf}Nofn jf8f h=g=kf= @ 300000

25 v'8\of}g l;rfO{s'nf] dd{t h=g=kf= @ 500000.00

26 af]Nofvfg b]lv v'8\of}g ;Dd ;8s lgdf{0f h=g=kf= @ 500000.00

27 ;fd''bflos ejg lgdf{0f df]t{nL h=g=kf= @ 800000

28 nfFs'8f sfnl;g dlGb/ lgdf{0f df]t{nL h=g=kf= @ 360000

29 eufnf s'nf] lgf{0f df]t{nL h=g=kf= @ 500000

30 ejfgL dlGb/ b]lv 7fgfsf]6 ;Dd l;=s'= dd{t h=g=kf= @ 500000

31 v'8\of}g l;rfO{s'nf] dd{t h=g=kf= # 500000

32 8'+u|L k'n b]lv /fhsf]6 ;8s lgdf{0f h=g=kf= # 500000

33 hfv\v]t d'+u|]8fF8f, l;dNtf]nf, bx'nf k'u/ ;8s h=g=kf= # 500000

34 rglsnL vfg]kfgL lgdf{0f h=g=kf= $ 1500000

35 jfn ljsf; p=df=lj=3]/jf/ h=g=kf= $ 600000

36 vfltjf8f hf]zLjf8f ;fd'bflos ejg lgdf{0f h=g=kf= $ 500000

37
zfvf ;8s la:tf/ d'n ;8saf6 sflnsf dlGb/x'b} guf/f uf]nfO{ 8fF8f 

;Dd h=g=kf= $ 500000
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38 uf]]nfO{ uf8 b]lv 9fFs|] vf]nf ;Dd s'nf] dd{t h=g=kf= $ 350000

39 zx/L :jf:Yo s]Gb| Aoa:yfkg tyf cf}iflw vl/b h=g=kf= $ 350000

40 ;fd'bflos ejg lgdf{0f uf]nfO{ h=g=kf= $ 200000

41 ejfgL ;f=k|f=lj=ejg dd{t h=g=kf= $ 300000

42 uf]nfO{ b]lv 36\6]vf]nf ;Dd af6f] dd{t h=g=kf= $ 100000

43 u8v]t b]lv k'u/ hfg] af6f] dd{t h=g=kf= $ 100000

44 wf}NofufpF vf=kf= lgdf{0f h=g=kf= $ 200000

45 vfnL u8f l;+=s'=dd{t h=g=kf= $ 100000

46 l;:g]vf]nf kof8fnL vf=kf=dd{t h=g=kf= $ 100000

47 l;/f8L l;+rfO{ s'nf] h=g=kf= $ 80000

48 o'jf v]ns'b sfo{s|d h=g=kf= $ 50000

49 ;'wfl/Psf] uf]7 lgdf{0f h=g=kf= $ 200000

50 ;'wfl/Psf] r'nf] lgdf{0f h=g=kf= $ 200000

51 vfg]kfgL d'xfg ;+/If0f h=g=kf= $ 150000

52 plt:of8L vf=kf= dd{t h=g=kf= $ 50000

53 u8v]t vf=kf=dd{t h=g=kf= $ 50000

54 Doflr8=km08 tyf lakb Aoa:yfkg h=g=kf= $ 520000

55 ejfgL dlGb/ lgdf{0f -ji6L_ h=g=kf= % 300000.00

56 uf]? udfh b]lv k'/fgf] uf=lj=;= ejg ;Dd t6\aGwg ai6L h=g=kf= % 300000.00

57 b'uf{b[]jL dlGb/ lgdf{0f -l8n_ h=g=kf= % 200000.00

58 lxtfgjf8f b]lv blnt a:tL /tfnL x'+b} bdfO{ 6f]n af6f] lgdf{0f sf]6]nL h=g=kf= % 300000.00

59 Clifs'08 dlGb/ u]6 af6f] lgdf{0f sf]6]nL h=g=kf= % 400000.00

60 jfn'jf v]t t/sf/L l;rfO kf]v/L lgdf{0f -n'ofF6f_ h=g=kf= % 300000.00

61 n'ofF6f lg=df=lj= 3]/jf/ / 5fgf dd{t -l8n_ h=g=kf= % 500000.00

62 Clifs'08 k|f=lj=ejg lgdf{0f -sf]6]nL_ h=g=kf= % 300000.00

63 e}/j lg=df=lj= ejg dd{t dfh];}g h=g=kf= % 300000.00

64 r'gfkfgL tNnf] Ho"nf kDk;]6 vl/b -n'ofF6f_ h=g=kf= % 300000.00

65 kf]v/L lgdf{0f -;'ltofF_ h=g=kf= % 300000.00

66 vfg]kfgL lgdf{0f ufFtf]nf, k8dgL l;Ns]8fFF8f -ai6L_ h=g=kf= % 200000.00

67 dfh];}g kf]v/L h=g=kf= % 500000.00

68 ju/ vfg]kfgL lgdf{0f -;'ltofF_ h=g=kf= % 200000.00

69 sf]6]nL b]lv Clifs'08 x'+b} ufFtf]nf af6f] -sf]6]nL_ h=g=kf= % 300000.00

70 t/sf/L laplahg tyf k|;f]wg s]Gb| -h=g=kf=%_ h=g=kf= % 200000.00

71 8fF8faf3 dlGb/ 3]/jf/ lgdf{0f -sf]6]nL_ h=g=kf= % 400000.00

72 ejfgL dlGb/ lgdf{0f -sf]6]nL_ h=g=kf= % 200000.00

73 8fF8faf3 Ujfnf dlGb/ lgdf{0f -;'ltofF_ h=g=kf= % 200000.00

74 b'uf{ ejfgL k|f=lj= 3]/jf/ lgdf{0f -n'ofF6f_ h=g=kf= % 300000.00

75 uf}/f dlGb/ af6f] h=g=kf= % 200000.00

76 e]n vf]nf b]lv tln Ho"nf ;Dd t6\aGwg h=g=kf= % 400000.00

77 s7fotjf8f ;]nL zfvf ;8s lgdf{0f h=g=kf= ^ 800000

78 sf]O/fnL v]t zfvf ;8s lgdf{0f h=g=kf= ^ 300000

79 ejfgL df=lj= lkmN8 dd{t h=g=kf= ^ 350000

80 dTjfnjf8f vf=kf= lgdf{0f h=g=kf= ^ 450000



81 cfdwf/f, s'nfk6L, eDs vf=kf= lgdf{0f h=g=kf= ^ 450000

82 ljkb Joj:yfkg sf]if h=g=kf= ^ 400000

83 n]lv yfna:7L zfvf ;8s lgdf{0f h=g=kf= ^ 300000

84 u}/sf]6 b]lv wDgfp ;Dd zfvf ;8s h=g=kf= & 500000

85 Hjf8f v]f=kf=dd{t h=g=kf= & 300000

86 vu]8f v]nd}bfg h=g=kf= & 600000

87 vf]nf blnt a:lt af6f] 9nlgsf; h=g=kf= & 500000

88 ;fd'bflos ejg lgdf{0f vfnL h=g=kf= & 500000

89 uf8 l;=s'=lgdf{0f ju8L h=g=kf= & 500000

90 rbf/Ljf8f vf=kf=dd{t h=g=kf= & 300000

91 tNnf] l;=s"=dd{t ;'j]8f h=g=kf= & 500000

92 hf]luwf/f l;;fgL l;=s" dd{t h=g=kf= & 300000

93 ;fd'bflos ejg lgdf{0f nDkf6f h=g=kf= & 500000

94 k|ltIffno lgdf{0f h=g=kf= & 200000

95 ;'/]Gb zflns :d{lt lgdf{0f h=g=kf= & 300000

96 af]/]nf l;=s'= kf/Lju/ l;=s' h=g=kf= & 500000

97 b}ljk|sf]k Joj:yfkg sf]if h=g=kf= & 500000

98 vf/fju/ jfl/n ;Dd zfvf ;8s h=g=kf= * 1200000

99 ;]nfv]t ;fd'bflos ejg lgdf{0f h=g=kf= * 700000

100 lzz' lg=df=lj t6aGwg h=g=kf= * 500000

101 hf]lzufp ;fd'bflos ejg lgdf{0f h=g=kf= * 700000

102 hf]lzufp x'b} Ujflg ;Nofgf af/Ln;Dd zfvf ;8s h=g=kf= * 500000

103 koftf]nf dlxnf ;fd'bflos ejg lgdf{0f h=g=kf= * 300000

104 hl8a'l6 / cfn' kf]s]6 If]q lj:tf/ jfl/n h=g=kf= * 500000

105 lkkn rf}tf/b]lv wf}bfju/ ;Dd vbf/L /fhdfu{ lgdf{0f h=g=kf= ( 500000

106 vf]lN;Ëf vf]nf t6\aGwg h=g=kf= ( 870000

107 apnfx vf]nf t6\aGwg h=g=kf= ( 300000

108 lj¥ofkfgL vf]nf t6\aGwg h=g=kf= ( 500000

109 hfu|L jf8f vf]tf t6\aGwg h=g=kf= ( 300000

110 ;fd''bflos ejg lgdf{0f 3f]8fj]ufpgf h=g=kf= ( 400000

111 ;fd'bflos ejg lgdf{0f b]jn h=g=kf= ( 400000

112 j8f sfof{no b]lv ax'nfx vf]nf x'+b} kl/jf8f ;Dd zfvf ;8s lgdf{0f h=g=kf= ( 500000

113 wf}nfju/ klx/f] aof] OlGhlgol/Ë h=g=kf= ( 300000

114 b}ljs k|sf] tyf ljkb Joj:yfkg h=g=kf= ( 500000

115 ljB't ejg, ;'df{ 6f]n ;Dd hf]8\g] zfvf ;8s h=g=kf= !) 100000 qmdfut

116 afpnLuf8 b]lv s'nfnLufpF, v]O/f, kf8];}g, s'rf zfvf ;8s h=g=kf= !) 1000000 qmdfut

117 vnfkf6f, wd]gfufpF, kf8];}g x'+b} dofgf hf]8\g] zfvf ;8s h=g=kf= !) 1000000 qmdfut

118-s_ sf/fuf/ x'+b} cbfnt cuf8L d'n ;8s hf]8\g] zfvf ;8s h=g=kf= !)

v
kfgsf]6 k'n x'+b} ;'gf/jf8f afx'nL uf8sf] k'n ;Dd x'+b} a;kfs{ hf]8\g] 

zfvf ;8s h=g=kf= !)

u dfpG6]g Eo' b]lv ;'gf/ jf8f zfvf ;8s h=g=kf= !)

# l;dln?vaf6 tf; 3/ g'guf]bfd ;Dd zfvf ;8s h=g=kf= !)

ª b]jfgsf] 3/af6 afndlGb/ ;Dd zfvf ;8s h=g=kf= !)
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r
wd{/fh >i7sf] 3/af6 lj=s=6f]n, /;fO{nL6f]n, rl/9'Ëf 6f]n x'+b} k|zf;g 

;Dd zfvf ;8s, b]jfgsf] 3/af6 uf]nfO{ s'nf]sf] l/hj{ 6\of+sL ;Dd zfvf 

;8s h=g=kf= !)

119 d'/f vf]nf 9n lgdf{0f -d'/f vf]nf b]lvafx'nL uf8 ;Dd_ h=g=kf= !) 1000000

120 ;'df{b]jL Snj r}gk'/ v]nd}bfg h=g=kf= !) 1000000

121 bDb'/, s'nfnLufpF v]O/f ;8s h=g=kf= !) 1500000

122 r}gk'/ dofgf ;8s lgdf{0f h=g=kf= !! 2500000

123 ;fu'ju/, uf]l7rf}/, tlnrf}/, ;'On, 8'+u|f x'+b} b}s'dnf ;8s lgdf{0f h=g=kf= !! 500000

124 lk7fn]s vfg]kfgL dd{t h=g=kf= !! 200000

125 s5]8f 9f]nLjf8f zfvf ;8s lgdf{0f h=g=kf= !! 300000

126 rfkmfvf]nf, 8fF8fufpF a}hf8f ;8s lgdf{0f h=g=kf= !! 500000

127 rf]6\s]kftn vf=kf= lgdf{0f ;'On h=g=kf= !! 300000

128 wf}Nb]p lg=df=lj= lkmN8 lgdf{0f h=g=kf= !! 300000

129 ;'df{ lg=df=lj= lk7fn]s ejg dd{t h=g=kf= !! 200000

130 3f]8fbfpgf vf=kf= dd{t h=g=kf= !! 200000

131 rfkmfvf]nf sfk|Lsf]6 8fF8faf3 dlGb/ dd{t h=g=kf= !! 150000

132 /3'gfy k|f=lj= ejg dd{t -;fOnfju/_ h=g=kf= !! 300000

133 ef]k'/ vf=kf= dd{t h=g=kf= !! 100000

134 af3df/] vf=kf=dd{t -dofgf_ h=g=kf= !! 50000

135 66fNof vfg]kfgL dd{t -sfk|Lsf]6_ h=g=kf= !! 50000

136 sfnLsf dlGb/ dd{t -?Ogfju/_ h=g=kf= !! 50000

137 b}ljk|sf]k Joj:yfkg h=g=kf= !! 460000

hDdf 57840000.00

2_ k|a${gfTds tkm{sf of]hgfx?

1 s]t'jf8f k'/fgf] wf/f b]lv vf]nfb]nL ;Dd 9nlgsf; h=g=kf= # 400000

2 /fhsf]6 b]lv evf8f l;rfO{s'nf] tyf t6\aGwg h=g=kf= # 300000

3 /fhsf]6 b]lv kg] rf}sf l;=s'= dd{t h=g=kf= # 300000

4 v'8\of}g di6f sfn]e'jfF l;rfO{s'nf] dd{t h=g=kf= # 300000

5 l8Nof vf8f vf=kf= lgdf{0f h=g=kf= # 200000

6 /f]sfofjf8 ;fd'bflos ejg lgdf{0f 8'+u|L h=g=kf= # 200000

7 a[4fcf>d ejg lgdf{0f s]t'jf8f h=g=kf= # 200000

8 blnt a:tL vf=kf= lgdf{0f h=g=kf= # 200000

9 kf08' p=df=lj= 3]/jf/ h=g=kf= # 300000

10 x]dGtjf8f :jf:Yo rf}sL ejg lgdf{0f h=g=kf= # 300000

11 ;/:jtL ;fd'bflos k|f=lj= ejg dd{t h=g=kf= # 300000

12 ejfgL ;d'bflos j|f=lj= ejg dd{t h=g=kf= # 300000

13 Njf/jf8f lqmof 3/ lgdf{0f h=g=kf= # 100000

14 s'of kfgL / s';fkfgL l;=s'= dd{t h=g=kf= # 100000

15 nf6]vf]nf b]lv tf]nL ;Dd 9nlgsf; h=g=kf= # 100000

16 s]t'jf8f vf=kf= dd{t h=g=kf= # 100000

17 nf6]vf]nf b]lv rfFbf8fF8f l;=s'= dd{t h=g=kf= # 100000

18 o'jf v]ns'b sfo{qmd h=g=kf= # 100000

19 v8fot v]t b]lv tf]nL ;Dd 9nlgsf; h=g=kf= # 100000
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20 vf]Nof 3§ km'nf8L vf=kf dd{t h=g=kf= # 100000

21 uf8v]t l;=s'=dd{t h=g=kf= # 100000

22 s[lif a]df};ld t/sf/L v]tL / e6g/L vf]k tyf cf}ifwLpkf/ vl/b h=g=kf= # 100000

23 af/le§f vf=kf= dd{t h=g=kf= # 100000

24 aof8L ufpF vf=kf= dd{t h=g=kf= # 100000

25 /f]sfofaf8f, bdfO{jf8f vf=kf= dd{t h=g=kf= # 100000

26 df}8\t}g a:tL vf=kf=dd{t h=g=kf= # 60000

27 g'jfF7fgf kl/3/ /f]K6f ;8s lgdf{0f h=g=kf= ^ 200000

28 afFhL?v kfnL6]SgLs sn]h ;8s lgdf{0f h=g=kf= ^ 200000

29 sfk|f hok[YjL gu/ ;8s dd{t h=g=kf= ^ 250000

30 hgk|Lo k|f=lj= 3]/jf/ dd{t h=g=kf= ^ 200000

31 gljg k|f=lj=zf}rfno lgdf{0f h=g=kf= ^ 100000

32 hgHjtL k|f=lj= zf}rfno lgdf{0f h=g=kf= ^ 100000

33 l;kd'ns tflnd ;+rfng h=g=kf= ^ 150000

34 ;fd'bflos jfg 3]/jf/ ;+/If0f a[Iff/f]k0f h=g=kf= ^ 150000

35 s[lif If]q cw'lglss/0f h=g=kf= ^ 150000

36 kz' :jf:Yo pks/0fsf] nflu h=g=kf= ^ 150000

37 k|;'tL s]Gb| ;+rfng h=g=kf= ^ 100000

38 ab]8f vf=kf= dd{t h=g=kf= ^ 100000

39 gfj ;]nL vf=kf= dd{t h=g=kf= ^ 100000

40 8fF8f vf=kf= dd{t h=g=kf= ^ 100000

41 dNnf jf8f l;=s'= dd{t h=g=kf= ^ 100000

42 lzj dlGb/ dd{t -uf]7fn] v]t_ h=g=kf= ^ 100000

43 ;"rgf ;+rf/ lj1fkg h=g=kf= ^ 60000

44 ;'/Iff vr{ h=g=kf= ^ 10000

45 di6fdf08' k|ltdf :yfkgf h=g=kf= ^ 40000

46 ejfgL dlGb? 3]/jf/ h=g=kf= ^ 100000

47 b'lb/ df0f' dd{t ;Def/ h=g=kf= ^ 40000

48 afGgL df0f' dd{t h=g=kf= ^ 40000

49 b'lb/ df0f' dd{t s7fot jf8f h=g=kf= ^ 40000

50 wNb]p df0f' dd{t ;]nL h=g=kf= ^ 40000

51 af7kfnf dlGb/ dd{t km'6f 9'+uf h=g=kf= ^ 40000

52 afFhL?v di6f dlGb/ dd{t h=g=kf= ^ 40000

53 7'nLe'jfF vf=kf=dd{t h=g=kf= ^ 40000

54 kl/d]nf wf/f dd{t h=g=kf= ^ 20000

55 lkkn rf}tf/f dd{t /fhjf8f h=g=kf= ^ 40000

56 wnk'/L df0f' dd{t h=g=kf= ^ 30000

57 ;lxb u]6 lgdf{0f juL/ h=g=kf= ^ 200000

58 k':tsfno :yfkgf h=g=kf= ^ 100000

59 8f8fjfw dlGb/ dd{t h=g=kf= & 100000

60 zx/L :jf:Yo OsfO{ s]Gb ejg lgdf{0f h=g=kf= & 200000

61 b'w]di6f dlGb/ dd{t h=g=kf= & 180000

62 k'NtLwf/f dd{t h=g=kf= & 100000



63 v}n]gL kf]v/L w]/jf/ h=g=kf= & 140000

64 e08fufp vf=kf= dd{t h=g=kf= & 50000

65 b'bLNnfwf/f vf=kf h=g=kf= & 60000

66 ;}6]8L vf=kf= dd{t h=g=kf= & 50000

67 ltnfnufp l;=s'=dd{t h=g=kf= & 50000

68 Hjf8f jf6f] dd{t h=g=kf= & 210000

69 l;dv]t vf/f 9n lgsf; h=g=kf= & 150000

70 dNnf] l;dv]t wf/f dd{t h=g=kf= & 50000

71 vfu8f b'lv tlnv]]t ;Dd lj3't nfO{g h=g=kf= & 250000

72 sflnsf dlGb/ dd{t h=g=kf= & 200000

73 jfnf]bo k|f=lj= 5fqf z}rfno lgdf{0f h=g=kf= * 150000

74 u}ynL l;rfO{ kf]v/L lgdf{0f h=g=kf= * 50000

75 ;]nfv]t ;'df{dlGb/ u]i6 xfp; lgdf{0f h=g=kf= * 300000

76 hfnkf k|f=lj 5fqf z}rfno lgdf{0f h=g=kf= * 150000

77 j8f :tl/o ;'rgf s]Gbsf nflu ;fdfu|L vl/b h=g=kf= * 300000

78 gdfb]p ;f=k|f=lj 5fqf z}rfno h=g=kf= * 150000

79 o'jfjif{ k|f=lj=z}}lIfs ;fdfu|L vl/b h=g=kf= * 100000

80 b'u]wf/f lgdf{0f koftf]nf h=g=kf= * 50000

81 5fqf d}qL zf}rfno lgdf{0f hfnkf p=df=lj= h=g=kf= ( 268000

82 dNnf] :s'n lkkn rf}tf/f lgdf{0f h=g=kf= ( 150000

83 ufF8L d'+u|f, ;'Gofn wf/f, rfFkm?v wf/f d'n dd{t h=g=kf= ( 290000

84 uf8vf]nf vf=kf= dd{t h=g=kf= ( 232000

85 ssfgL dlGb/ dd{t h=g=kf= ( 100000

86 cf]v]8f jf8f dlGb/ dd{t h=g=kf= ( 100000

87 hfnkf b]jL o'g];sf] ;+:yfut ljsf; h=g=kf= ( 60000

88 v]ns'n d}bfg lgdf{0f tyf t6\aGwg h=g=kf= ( 290000

89 gfgfufpF kf]v/L lgdf{0f h=g=kf= ( 100000

90 dlxnf ;fd'bflos ejg h=g=kf= !) 300000

91 rf}ufpF 6f]naf6 rl/9'Ëf l;=s'= h=g=kf= !) 300000

92 td}n b]lv lj=s= 6f]nsf] d]gahf/ ;Dd l;=s'= lgdf{0f h=g=kf= !) 500000

93 zD;]/ aDdsf] 3/ b]lv ;'gf/ 6f]n ;Dd l;=s'= lgdf{0f h=g=kf= !) 300000

94 bDb'/ vfg]kfgL dd{t h=g=kf= !) 100000

95 s'nfnLufpF vf=kf= dd{t / bDb'/ hf]zL vf=kf= h=g=kf= !) 300000

96 wd]gfufpF vf=kf=dd{t wd]gf tNnf] a:tL h=g=kf= !) 300000

97 kf8];}g vf=kf dd{t h=g=kf= !) 300000

98 ejfgL k|f=lj= lkmN8 dd{t h=g=kf= !) 300000

99 vnfkf6f vf=kf=dd{t, v8sfjf8f vf=kf= h=g=kf= !) 200000

100 lbk]z df]jfOn Uofn/Laf6 nf]stfGqL rf]s ;Dd l;=s'= lgdf{0f h=g=kf= !) 500000

101 lk=;L=cf]= b]lv l;=s'= h=g=kf= !) 500000

102 s'rf vf=kf= dd{t h=g=kf= !) 200000

103 dfw'sfl6ofF vf=kf= dd{t h=g=kf= !) 200000

104 v8sfsf] 3/ b]lv kb]/L vf]nf ;Dd l;rfO s'nf] h=g=kf= !) 500000

105 v8sf, /f]sfof 3/ b]lv sft]{ vf]nf ;Dd 9nlgsf; h=g=kf= !) 300000

106 cfw'lgs cfkm/ lgdf{0f -r}gk'/, v]O/f, kf8];}g_ h=g=kf= !) 500000



107 a}hf8L vf]nf t6\aGwg h=g=kf= !) 500000

108 tNnf] gfpnL b]lv kf8];}g ufpF ltk'/ n'xf/sf] 3/ ;Dd t6\aGwg h=g=kf= !) 500000

109 lhNnf :sfp6 h=g=kf= !) 500000

110 afbL ;d'bfosf nflu cfjf; h=g=kf= !) 500000

hDdf 20020000

#_ nlIft ju{ tkm{ 

s_ dlxnf tkm{

1 ;fd'bflos ejg lgdf{0f h=g=kf= ! 220000.00

2 dlxnf ;fd'bflos ejg lgdf{0f b'lbnf vfg h=g=kf= @ 220000

3 3/]n' lx+;f afnljjfx ;DalGw hgr]tgfd'ns sfo{qmd h=g=kf= # 220000

4 dlxnf hgr]tgf d'ns sfo{s|d h=g=kf= $ 75000

5 3/]n' lx+;f Go"lgs/0f sfo{s|d h=g=kf= $ 50000

6 ;/;kmfO{ sfo{s|d h=g=kf= $ 75000

7 5fpk8L k|yf pGd'ng hgr]tgf sfo{qmd -h=g=kf=%_ h=g=kf= % 100000.00

8 gful/s ;r]tgf s]Gb| ejg lgdf{0f -;'ltofF_ h=g=kf= % 100000.00

9 cfdf ;d'x ;/;kmfO{ ;Dalgw hgr]tgfd'ns -h=g=kf=%_ h=g=kf= % 100000.00

10 dlxnf ejg lgdf{0f h=g=kf= ^ 200000

11 Psn dlxnf l;k ljsf; sfo{qmd h=g=kf= & 110000

12 dlxnf lx;f / 3/]n' lx;f ;DaGlw ;zlqms/0f h=g=kf= & 110000

13 j8f :tl/o Ifdtf ljsf; / l;k d'ns tflnd h=g=kf= * 220000

14 dlxnf g]t[Tj If]dtf ljsf; tflnd ;~rfng h=g=kf= ( 50000

15 5fpk8L k|yf pgd'ng d'Qm j8f 3f]if0f h=g=kf= ( 170000

16 j8f g+= !) Psn dlxnfx?nfO{ ;xof]u sfo{qmd h=g=kf= !) 300000

17 l;4]Zj/ dlxnf ;fd'bflos ejg lgdf{0f -wfldn]s_ h=g=kf= !) 120000

18 dlxnf ;fd'bflos ejg lgdf{0f -dofgf_ h=g=kf= !) 50000

19 w'jf/lxt r'nf] h=g=kf=!! h=g=kf= !) 50000

hDdf 2540000.00

v_ afnjflnsf tkm{

1 afnd}qL :yfgLo zf;g :yfkgf cleofg h=g=kf= ! 220000.00

2 v]nd}bfg lgdf{0f ;f=k|f=lj= y'Dsf h=g=kf= @ 50000

3 v]nd}bfg lgdf{0f vf]kfu8f df]t{nL h=g=kf= @ 80000

4 v]ns'b ;fdfu|L vl/b -afnljsf;, y'Dsf k|f=lj=, afnpbo k|f=lj=_ h=g=kf= @ 50000

5 afnd}qL wf/f lgdf{0f -afnpbo s]Gb| l8Nof_ h=g=kf= @ 40000

6 z}lIfs ;fdfu|L vl/b h=g=kf= # 110000

7 afnd}qL hgr]tgfd'ns sfo{qmd h=g=kf= # 110000

8 c;fxfo cgfy 6'x'/f jfnjflnsfnfO{ z}lIfs ;fdu|L cfly{s ;xof]u h=g=kf= $ 100000

9 jfnjflnsfx?nfO{ v]ns'b sfo{s|d h=g=kf= $ 100000

10
ljkGg, c;zfo / 6ckfË, 6'x'/f afnaflnsfx?nfO{ 5fqa[QL, z}lIfs ;fdfu|L 

vl/b -h=g=kf= % sf ;a} ljBfnox?df_ h=g=kf= % 220000

11 jfnjflnsf / o'jf h=g=kf= ^ 100000

12 afnd}qL :yflgo zf;g sfo{Gjog ;DaGwL h=g=kf= & 220000

13 jfn>d tyf afnljjfx ;DjGwdf ;r]tgf sfo{s|d h=g=kf= * 220000

14 v]ns'b ljsf; sfo{qmd ;+rfng h=g=kf= ( 50000

15 afn>d / jfnljjfx d'Qm j8f 3f]if0ff h=g=kf= ( 120000



16 ljkGg afnaflnsf lzIff ;xof]u sfo{qmd h=g=kf= ( 50000

17
j8f g+= !) sf lg=df=lj=, k|f=lj=sf afnaflnsf afNSnjx? z}lIfs, ef}lts 

;fdfu|L vl/b ug]{ h=g=kf= !) 300000

18

/3'gfy k|f=lj=,e"dLb]j k|f=lj=, wf}}Nb]p lg=df=lj\, ;'df{ lg=df=lj=, gfggb]j 

k|f=lj=, gd'gf k|f=lj=, wf}Nb]p k|f=lj=, lgns§L lg=df=lj=df afnd}qL sIffsf]7f 

Joj:yfkg h=g=kf= !! 220000

hDdf 2360000.00

u_ ;fdflhs tyf cfly{s ?kdf k5fl8 k/]sf ju{

1 blnt ;fd'bflos ejg Pj+ nf]s;]jf tof/L sIff ;+rfng h=g=kf= ! 300000.00

2 h]i7gfu/Ls e]63f6 k|ltIffno :yfkgf h=g=kf= ! 100000.00

3 ckfË lxt sf]if h=g=kf= ! 100000.00

4 dlxnf ;fd'bflos ejg lgdf{0f l8Nof, bf}Nofnaf8f h=g=kf= @ 100000

5 s'6fgL lk;fgL ;fdfu|L vl/b df]t{nL h=g=kf= @ 200000

6 ljkGg afnaflnsf z}lIfs ;fdfu|L vl/b, ljt/0f afFhufpF h=g=kf= @ 100000

7 alu/ wf/f lgdf{0f bf}Nofn af8f h=g=kf= @ 40000

8
h]i7gful/s, blnt, ljkGg kl/jf/ czxfo, Psn dlxnf tyf ckfË ju{nfO{ 

;fdfu|L tyf cfly{s ;xof]u h=g=kf= # 100000

9 l;dNtf]nf j8f lSnlgs ;fdfu|L vl/b h=g=kf= # 100000

10 nfFufdf0f' dlGb/ dd{t h=g=kf= # 140000

11 njfr'/ dlGb/ lgdf{0f dNnf] cf]8jf8f h=g=kf= # 100000

12 8fF8faf3 k|f=lj=3]/jf/ h=g=kf= $ 150000

13 blnt a:tL cfkm/ lgdf{0f tyf cf}hf/ vl/b k'u/ h=g=kf= $ 50000

14
h]i7 gful/s blnt ckf8= Psn dlxnfnfO{ /fxft tyf cfly{s ;xof]u 

sfo{qmd h=g=kf= $ 150000

15 l;k d'ns sfo{s|d h=g=kf= $ 50000

16 l;nfO{s6fO{d]l;g vl/b -a:6L_ h=g=kf= % 100000

17 5fnf k|;f]wg s]Gb| -sf]6]nL_ h=g=kf= % 100000

18 df}/]9'Ë blnt a:tL vf=kf= lgdf{0f h=g=kf= % 100000

19 blnt a:tL 5fnf h'Qf l;kd'ns tflnd -sf]6]nL_ h=g=kf= % 100000

20 vfg]kfgL dd{t -l8nju/_ h=g=kf= % 40000

21 k~r]jfhf dd{t -blnt_ h=g=kf= ^ 100000

22 b'lb/ df0f' dd{t -blnt_ h=g=kf= ^ 50000

23 cfkm/ dd{t kfl/3/ -blnt_ h=g=kf= ^ 50000

24 h]i7 gful/s a[4 a[4f h=g=kf= ^ 150000

25 czQm ckfË c;xfo h=g=kf= ^ 150000

26 5fnf h'Ttf k|zf]wg s]Gb h=g=kf= & 200000

27 cfkm/ dd{t vu]8f h=g=kf= & 80000

28 cG;fn' lgdf{0f rbf/Ljf8f h=g=kf= & 120000

29 8fuj:lt cfkm/ dd{t h=g=kf= & 80000

30 uug8f8f , km'6fb'ªf 9Nsgf l;rfO{ kf]v/L h=g=kf= & 300000

31 d]g/f]8 b]vL k|ult k|f=lj= ;Dd af6f] dd{t h=g=kf= ( 50000

32 o'jf ;f]/f]huf/ sfo{qmd ;+rfng h=g=kf= ( 100000

33 vbf/L df0f' 3]/jf/ h=g=kf= ( 150000

34 h]i7 gful/s ;Ddfg sfo{qmd h=g=kf= ( 40000



35 ckfËtf ePsf JolQmsf] cfocfh{gsf nflu 3'DtL sf]if ;+rfng h=g=kf= ( 100000

36 afbL pTyfg sfo{qmd h=g=kf= !) 200000

37 h=g=kf= !) sf blnt k'?if tyf dlxnfnfO{ ljt/0f h=g=kf= !) 200000

38 ;Dk"0f{ h]i7 gful/snfO{ ljt/0f h=g=kf= !) 200000

39 ;Dk"0f ckfËnfO{ ljt/0f h=g=kf= !) 200000

40 clt ljkGg h]i7 gful/s, ckfË ;r]tgf Pj+ ;Ddfg sfo{qmd h=g=kf= !! 440000

hDdf 5180000.00


